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Journal Entry: Chapter 3

1. What is a compound word? Give an example. SRng e Eliies
Relate this to why you think -4<x<5 is called a
compound inequality? . e .

-solve and graph inequalities, using sets,

2. The intersection of two roads is the place where LRSI REliDE e L T

the roads cross. How would you define the
intersection of two groups of objects?
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. Getting Ready, Solve It
Se_C_tlon 3-1 _ on page 165
Inequalities and Their
-Read through and solve the
Graphs maximum height for a building on
the street.
Students will be able to: : o
-write, graph, and identify solutions of ettt
inequalities.
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Write the inequality:
Define:
-inequality: (oA pn(in (5 all real numbers p greater than or equal to 1.5
Jr\\:w%s Yhat are P=15
o € qb\A 0\\ - the sum of t and 7 is less then -3
N Z_ 10 T+ 7<% -3
v 2-4
210 £ X
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A solution to an inequality is any
number that makes it true.

Consider the numbers -1, 0, 1, and 3.
Which are solutions to 13 - 7y < 6?
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You can use a graph to indicate all of the
solutions of an inequality.

Graph:
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What is the inequality represented?
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Write the inequality:

Ride Passes starting at $19.99

P> 1997
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Hwk: pg. 168 - 170
#8-16 evens, 18 - 34 (4th),
36 - 46 evens, 56, 60
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